BT RFEMEFNFESTIEFMR
022FEEYEFTIETUMIMREZENFTNZE

RS R4 FIEAL X | R | wwes | 2RO B | B2 DR
XXXXXXXXXXX7175 | #Hik 077700 | A4 2 T8 4 H il FEE R 363 84. 55 386. 9 1
XXXXXXXXXXX7190 RS 077700 | A== 2 A% 4 H il AR 5E 7] 377 78.77 | 383.74 2
XXXXXXXXXXX7184 |  ZEHfi 5 077700 | A= 4= % T8 4 H | FEE R 368 80. 55 381.9 3
XXXXXXXXXXX7181 HF T 077700 | A=#p 2 T2 4 [ il AR 5E ] 370 76.46 | 374.92 4
XXXXXXXXXXX7183 k| 077700 | A= #p= 2 T2 4 [ il AR 5E 7] 367 76.9 374 5
XXXXXXXXXXX7182 FEHA 077700 | A=#p = 2 T2 4 [ il AR 5E 7] 343 83.91 373. 62 6
XXXXXXXXXXX7185 x|y 077700 | A=#pp 2 T2 4 [ il AR 5E 7] 341 80.24 | 365.08 7
XXXXXXXXXXX7197 7k k% 077700 | A== 2 T2 4 [ il AR 5E 1] 362 70. 03 357. 26 8
XXXXXXXXXXX7202 | #hZ% 077700 | A= = 2 A% 4= H il AR 5E 1] 338 72.16 | 347.12 9
XXXXXXXXXXX7176 KT 077700 | A4 2% T8 4 H | FEE R 311 79.08 | 344.76 10
XXXXXXXXXXX7180 |  #KEH L 077700 | A=# = 2% T8 4 H il e[ 318 75.99 | 342.78 11
XXXXXXXXXXX7177 | LR 077700 | A4 2 T8 4 H il FEE R 325 73.4 341.8 12
XXXXXXXXXXX7201 | fjfkze 077700 [ £ 2 T /% 4 H il AR 5E 1) 313 76.13 | 340.06 13
XXXXXXXXXXX7192 B M 077700 | A=#p 2 L% 4 [ il AR 5E ] 320 65. 9 323.8 14
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